[bookmark: _Hlk94263141][bookmark: _Hlk94263234]FACTORS, MULTIPLES AND PRIMES
Pearson Edexcel - Tuesday 19 May 2020 - Paper 1 (Non‑Calculator) Higher Tier
1.
[image: Graphical user interface, text, application, email

Description automatically generated]

Pearson Edexcel – Thursday  4 June 2020 - Paper 2 (Calculator) Higher Tier
2.
[image: A picture containing text, plant, bird, aquatic bird

Description automatically generated]

Pearson Edexcel – Monday 8 June 2020 - Paper 3 (Calculator) Higher Tier
3.
[image: Graphical user interface, text, application, email

Description automatically generated]

Pearson Edexcel - Tuesday 11 June 2019 - Paper 3 (Calculator) Higher Tier
4.
[image: Chart, scatter chart

Description automatically generated with medium confidence]
Pearson Edexcel - Tuesday 6 November 2018 - Paper 1 (Non-Calculator) Higher Tier
5.
[image: Graphical user interface, text, application

Description automatically generated]
Pearson Edexcel - Thursday 24 May 2018 - Paper 1 (Non-Calculator) Higher Tier
6.
[image: Graphical user interface, text, application

Description automatically generated]

Pearson Edexcel - Thursday 24 May 2018 - Paper 1 (Non-Calculator) Higher Tier
7.
[image: Text

Description automatically generated]
Pearson Edexcel - Thursday 2 November 2017 - Paper 1 (Non-Calculator) Higher Tier
8.
[image: Graphical user interface, text, application

Description automatically generated]
Pearson Edexcel - Wednesday 8 November 2017 - Paper 3 (Calculator) Higher Tier
9.
[image: Graphical user interface, text, application, chat or text message

Description automatically generated]
Pearson Edexcel - Thursday 25 May 2017 - Paper 1 (Non-Calculator) Higher Tier
10.
[image: Graphical user interface, text, application

Description automatically generated]

Pearson Edexcel - Thursday 25 May 2017 - Paper 1 (Non-Calculator) Higher Tier
11.
[image: Text, letter, email

Description automatically generated]
Pearson Edexcel - Specimen Papers Set 2 - Paper 1 (Non-Calculator) Higher Tier
12.
[image: Graphical user interface, application

Description automatically generated]

Pearson Edexcel - Sample Paper 3 - (Calculator) Higher Tier
13.
[image: Text, letter

Description automatically generated]


Pearson Edexcel - Thursday 4 June 2015 - Paper 1 (Non-Calculator) Higher Tier
14.
[image: Graphical user interface, text, application, email

Description automatically generated]


Pearson Edexcel - Friday 13 June 2014 - Paper 2 (Calculator) Higher Tier
15.
[image: Text, letter

Description automatically generated]



Pearson Edexcel - Tuesday 11 June 2013 - Paper 1 (Non-Calculator) Higher Tier
16.
[image: Graphical user interface, text, application

Description automatically generated]
Pearson Edexcel - Tuesday 11 June 2013 - Paper 1 (Non-Calculator) Higher Tier
17.
[image: Graphical user interface, text, application, email

Description automatically generated]
Pearson Edexcel - Friday 10 June 2011 - Paper 4 (Calculator) Higher Tier
18.
[image: Text

Description automatically generated]



Pearson Edexcel - Monday 7 June 2010 - Paper 3 (Non-Calculator) Higher Tier
19.
[image: Graphical user interface, text, application

Description automatically generated]
OCR GSCE – Thursday 5 November 2020 – Paper 5 (Non-Calculator) Higher Tier
20.
[image: ]
OCR GSCE – Thursday 7 June 2018 – Paper 5 (Non - Calculator) Higher Tier
21.
[image: ]












OCR GSCE – Tuesday 6 November 2017 – Paper 5 (Non - Calculator) Higher Tier
22.
[image: ]












AQA GSCE – Monday 12 November 2018 – Paper 3 (Calculator) Higher Tier
23.
[image: ]











AQA GSCE – Tuesday 12 June 2018 – Paper 3 (Calculator) Higher Tier
24.
[image: ]




AQA GSCE – Thursday 2 November 2017 – Paper 1 (Non - Calculator) Higher Tier
25.
[image: ]
AQA GSCE – Wednesday 8 November 2017 – Paper 3 (Calculator) Higher Tier
26.
[image: ]
AQA GSCE – Sample Paper 3 (Calculator) Higher Tier
27.

[image: ]
[bookmark: _GoBack][image: ]
image6.png
15 (@) Factoise o2 5

(6) Hence,or otherwise, simpliy flly (<44 45~ (4 -2

(lotal for Question 15 is 4 marks)




image7.png
17 Simplify fully

(Total for Question 17 is 3 marks)
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1 Write 36 as a product of its prime factors.

(Total for Question 1 is 2 marks)
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13 Write x*+6x=7 intheform (r+ay+b whereaandbare integers.
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2 Express 56 as the product of ts prime factors.
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5 Write 525 as a product of its prime factors.

(Total for Question 5 is 3 marks)
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9 Matt and Dan cycle around  eycle track.

Each lap Mat cycles takes him 50 seconds.
Each lap Dan cyeles takes him 50 scconds.

‘Dan and Matt start eyeling at the same time at the stat line.

‘Work out how many s they will cach have cycled when they are next a the start line
together

(Total for Question 9 is 3 marks)
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1 Wite 75 as a product of its prime factors.
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15 nisa positive integer.

Prove that 130+ 3+ (3n — 5)(2n + 3) is a multiple of 6. “
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3 Andrew is thinking of a number.

between 1 and 150.

one more than a square number.
three less than a cube number.
not a prime number.

Whatis Andrew's number?
You must show all your reasoning.

[
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k=rtron+t
Mo says,
“k will be a prime number for allnteger values of n fom 1 t0 8"
‘Show that Mo is wrong.

‘You must show that your value of s not prime.
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17 Here are two methods to make a 4-digit code.
Codes can have repeated

Method A
For the first two digits use an odd number between 30 and 100
For the last two digits use a multiple of 11

Method B
Use four digits in the order  even odd even  odd
Do not use the digit zero

Which method gives the greater number of possible codes?
‘You must show your working.
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26 (b)  Using part (a) or otherwise, convert 0.27 to a fraction.

Give your answer inits simplest form.
13 marks]

Answer
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(a+ ba—b)
aand b are positive whole numbers with a > b
a®— b?is a prime number.

Why are a and b consecutive numbers?
[2 marks]
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12 Tickwhether each statement s true or false.
Give a reason for your answer.

12 (a) When »*

6 the only value that x can be is 4
[1 mark]

True False

12 (B) When s a positive integer, the value of 21 is always a factor of the value of 20n.
[1 mark]

True False
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12 (c) Whenyis positive, the value of °

always greater than the value of y.
[1 mark]

True False
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1 (a) Wite 84 as a product o fs prime factors.

&) Find the lowest common mulfiple (LCM) of 60 and 84
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18 (a) Show that (2 + 1) + 3)3x + 7) can be written in the form ax’ + &% + ox + 4
Where s, ad v cgers.
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